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float(%);
1.413793103448276

expand(-(-3*aA3*bA2*cA2-(4*aA2*bA3*cA3+3*aA3*bA2* cA2-(-2*ar2*bA3*cA3)))+a*b*c*(-5*aA2*b*c+3*a*bA2*cA2)) ;
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expand((\phi + \xi)A7);
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expand((1+t+tAG+EA7+EAI+EAY) * (tAS5-tA4-tA3-1A2));
2t 2B #2211 2 10 2 9 13140 2 ¢t 2 342

factor(x+1-xA3-xA2);
*(xfl)(x+l)2

factor(xA2+13*x+7);
x2+13x+7

allroots(xA2+13*x+7 = 0);

[x=-.5628289564810414 , x=-12.43717104351896 ]
Expression(\Phi) := \PhiA3-1/\Phi + 5 * (\PhiA2-2);
Expression(é):=¢3—:;+5 (@2—2)

Expression(1/5);
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float(%);
-14.792
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